
 

                                           Division exercise solution sheet-7 

                                 Date-13.07.20 

1. 

                 In 1 baskets 10 mangoes 

Therefore In 5 baskets (10×5) mangoes 

                                          =50 mangoes 

Ans: 50 mangoes. 

2. 

                      5 children got 10 mangoes 

 Therefore    1 child got (10÷5) mangoes 

                                             =2 mangoes 

Ans: 2 mangoes. 

                                        The end 


